(1) Notations
(1)
$$\chi = (\chi_{1}, ..., \chi_{n})$$
 $\chi_{i} \in \mathbb{Z}$. $\chi_{i \geq 0}$
 $\Im^{d} f = \frac{\Im^{(n)} f}{\Im^{n} \chi_{1} ..., \Im^{n} \chi_{n}}$
 $\chi^{i} = (\chi_{i})! ... (\chi_{n})!$
 $\Im^{d} (f \Im) = \sum_{\beta' \neq \gamma'} \frac{\chi^{i}}{\beta' \Im^{i}} \Im^{\beta} \int^{\gamma} \Im^{j}$
 $\underline{Ex}: Prove it \int_{\beta' \neq \gamma'} \beta' \Im^{j}$
 $\underline{Ex}: Prove it \int_{\beta' \neq \gamma'} \beta' \Im^{j}$
 $\chi^{i} (T_{\gamma} f) \chi_{i} = \int (\chi - \Im).$
 $\Im is defined on $\mathcal{N} CR^{n} \Longrightarrow (T_{\gamma} f) is defined on $\mathcal{N} + \Upsilon$
(ii) $f \star g(\chi) \rightleftharpoons \int_{\mathbb{R}^{n}} f(\chi_{-\gamma}) \Im^{(n)} d\Im = \int_{\mathbb{R}^{n}} \frac{f(\eta) \Im^{(n-\gamma)} d\eta}{\pi \pi \pi \pi} d\eta$$$

(iv). Generalized Minkowski inequality:
$$g \ge 0$$

$$\begin{bmatrix} \int \left(\int f(x, y) du(y) \right)^{p} du(y) \end{bmatrix}^{p} \\ \le \int \left(\int \int S(x, y) du(y) \right)^{p} du(y) \end{bmatrix}^{p} \\ \le \int \left(\int S(x, y) du(y) \right)^{p} du(y) \end{bmatrix}^{p} \\ \le \int \left(\int S(x, y) du(y) \right)^{p} du(y) \end{bmatrix}^{p} \\ \le \int \left(\int S(x, y) du(y) \right)^{p} du(y) \end{bmatrix}^{p} \\ \le \int \left(\int S(x, y) du(y) \right)^{p} du(y) \end{bmatrix}^{p} \\ = \int \left(\int S(x, y) du(y) \right)^{p} du(y) \end{bmatrix}^{p} \\ = \int \left(\int S(x, y) dy \right)^{p} du(y) = \int \int S(x, y) dy \\ = \int \int S(x, y) dy = \int \int S(y) dy \\ = \int \int S(x, y) dy = \int \int S(y) dy \\ = \int \int S(y) dy = \int \int S(y) dy \\ = \int \int S(y) dy = \int \int S(y) dy \\ = \int \int S(y) dy = \int S(y) dy \\ = \int \int S(y) dy = \int S(y) dy \\ = \int \int S(y) dy \\ = \int S(y$$

Pf. Easy. Theorem 8.15 If $|\phi(x)| \leq \frac{C}{(H|x|)^{HE}}$ and $\xi \in L^{1}$ then f * qt -> f on x, with x being an Lebserve point of f. Pf. Lebesque point x (=> Thm 3.21 $\lim_{r \to 0} \frac{1}{|B(x,r)|} \int_{B(x,r)} |f(y) - f(x)| dy = 0$ (i) Easy case: \$ is as (8.1). Namely Supp & C B(0,1) $\implies \qquad f \star \phi_t (x) - f(x)$ $= \int f(x-y) \phi(y/t) \frac{1}{t} dy - \int \left[\frac{1}{t} \left(\frac{1}{t} \right) \frac{1}{t} \right] \frac{1}{t} dy$ $= \int \left[f(x-y) - f(x)\right] \phi(\frac{z}{t}) \frac{z}{t} dy$ [[f(x-tz)-f(x)] &(z) dz) (= $\Rightarrow \leq \frac{1}{t^{n}} \left(\left| \frac{f(x-x)}{f(x-x)} - \frac{f(x)}{f(x-x)} \right| < d_{x} \right)$

$$= \frac{C}{t^{*}} \int_{B(x,t)} |f(z) - f(x)| dz$$

$$\to s \quad since x is q$$
Here we only use $f \in L_{loc}$.

(i) General (and:
$$\phi$$
 due not have compact support.
But $|\phi(x)| \leq \frac{C}{(1+|x|)^{n_2}}$
Namely $|\phi(x)| \leq \frac{C}{E}$ & So below to get to forther
The particular ($|x|| \geq 1 \Rightarrow$
 $|\phi(x)| \leq \frac{C}{|x|^{n_1}}$ (2)
 $\forall 3>0 \equiv \eta$ such that if $v \leq \eta$
 $\int (f_{0}(v_3) - f_{0}v_3) dy \leq \delta r^n$ (2)
 $B(0, r)$
Now $|f \neq d_1(x) - f_{0}v| = |\int [f_{0}(v_3) - f_{0}v_3] \phi_1(y) dy |$
 $\leq \int |f_{0}(v_3) - f_{0}v_3| |\phi_1(y)| dy$
 $\leq \int |f_{0}(v_3) - f_{0}v_3| |\phi_1(y)| dy$
 $\leq \int |f_{0}(v_3) - f_{0}v_3| |\phi_1(y)| dy$
 $= \int |f_{0}(v_3) - f_{0}v_3| |\phi_1(y)| dy$
 $|f \neq d_1(x) - f_{0}v_3| |\phi_1(y)| dy$
 $= \int |f_{0}(v_3) - f_{0}v_3| |\phi_1(y)| dy$
 $|f = \int |f_{0}(v_3) - f_{0}v_3| |\phi_1(y)| dy$
 $= \int |f_{0}(v_3) - f_{0}v_3| |\phi_1(y)| dy$
 $|f = \int |f_{0}(v_3) - f_{0}v_3| |\phi_1(y)| dy$
 $|f = \int |f_{0}(v_3) - f_{0}v_3| |\phi_1(y)| dy$
 $|f = \int |f_{0}(v_3) - f_{0}(v_3)| |\phi_1(y)| dy$
 $|f = \int |f_{0}(v_3)| |f_{0}(v_3)| dy$
 $|f = \int |f_{0}(v_3)| dy$
 $|f$

Use the estimate

$$\int |f(x-y)-f(x)| |\phi_{t}(\frac{y}{t})| \leq \frac{1}{t^{n}} \int |f(x-y)-f(x)| \frac{C}{|\frac{y}{t}|^{me}}$$

$$2^{j} |s|y| \leq z^{jn} \eta \qquad (E_{2}) \qquad 2^{j} |s|y| \leq z^{jn} \eta$$

$$\int Ct^{\xi} (2^{-j} \eta)^{-(n+\xi)} \int |f(x-y)-f(x)|$$

$$\int \frac{1}{|\frac{y}{t}|^{me}} \leq (2^{j} \eta)^{-(n+\xi)} \int |f(x-y)-f(x)|$$

$$(\leq \delta (2^{-jn} \eta)^{n})$$

$$(E_{3}) = \int C\delta (\frac{t}{\eta})^{\xi} 2^{j} |x| \leq z^{jn} \eta$$

$$(\leq \delta (2^{-jn} \eta)^{n})$$

$$(E_{3}) = \int C\delta (\frac{t}{\eta})^{\xi} 2^{j} |x| \leq z^{j}$$

$$(C_{1}) \int (C_{1}) \int (\frac{t}{\eta})^{\xi} |x| \leq z^{j}$$

$$(C_{1}) \int (C_{1}) \int (C_{1}) \int (\frac{t}{\eta})^{\xi} |x| \leq z^{j}$$

$$(C_{1}) \int (C_{1}) \int (\frac{t}{\eta})^{\xi} |x| \leq z^{j}$$

$$(C_{1}) \int (C_{1}) \int (C_{1}) \int (\frac{t}{\eta})^{\xi} |x| \leq z^{j}$$

$$(C_{1}) \int (C_{1}) \int (C_{1})$$

We need this to define Fourier transforms on L' Also useful in the discussion of distributions.